
1) Decrease 18 by 1/9

Answer: ____________

2) Share 33 in the ratio 14:19

Answer: ____________

3) Convert the following improper 
fraction 35/7 + 1617/19 into a mixed 
number

Answer: ____________

4) Share 40 in the ratio 1:3

Answer: ____________

5) 18/7 - 15/13

Answer: ____________

6) Convert the following improper 
fraction 158/11 + 101/2 into a mixed 
number

Answer: ____________

7) 3   1/16 - 6   1/2

Answer: ____________

8) 3/86 of 172

Answer: ____________

9) Decrease 50 by 3/25

Answer: ____________

10) 18   10/17 - 20   11/17

Answer: ____________

11) Decrease 171 by 1/57

Answer: ____________

12) Share 40 in the ratio 3:37

Answer: ____________

13) 15/17 + 14/11

Answer: ____________

14) Increase 118 by 5/59

Answer: ____________

15) A number was shared in the ratio 
2:24. The smaller share was 55. 
What was the larger amount?

Answer: ____________
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16) 20/5 - 10/19

Answer: ____________

17) 18/17 + 14/19

Answer: ____________

18) Increase 141 by 1/47

Answer: ____________

19) 5/11 + 8/2

Answer: ____________

20) 7/18 + 18/14

Answer: ____________

Total: ___ / 20
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Answers:

1) 16 2) 1 : 32 3) 2081/133 4) 10 : 30 5) 138/91 6) 265/22 7) 67/16

8) 6 9) 44 10) 41/17 11) 168 12) 1 : 39 13) 229/187 14) 128

15) 660 16) 39/19 17) 1257/323 18) 144 19) 45/11 20) 185/126
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